



Calculer une égalité avec des parenthèses

* Il faut toujours commencer par calculer ce qu'il y a entre les parenthèses.

$(6 - 3) + (4 \times 1)$	=	7
$(6 \times 3) + (4 - 1)$	=	21
$(6 + 3) \times (4 + 1)$	=	45
$(6 \times 3) - (4 + 1)$	=	13
$(6 - 3) \times (4 + 1)$	=	15
$(6 + 3) \times (4 - 1)$	=	27
$(6 \times 3) + (4 + 1)$	=	23
$(6 \times 3) \times (4 - 1)$	=	54

$(6 \times 2) + (5 + 3)$	=	20
$(6 - 2) \times (5 + 3)$	=	32
$(6 \times 2) + (5 \times 3)$	=	27
$(6 \times 2) \times (5 - 3)$	=	24
$(6 + 2) \times (5 + 3)$	=	64
$(6 + 2) \times (5 - 3)$	=	16
$(6 \times 2) : (5 - 3)$	=	6
$(6 \times 2) \times (5 + 3)$	=	96